If a person decides to purchase a new car, find the probability that he or she has owned the old car for:
a) less than 2.5 years —_—

wlmed€ (0,3.5,5.3,1.2) = 0099 > 9¢9

b) between 2 and 5 years i S
Wotmcd £ (3, 5, 5.3,12)=1,393%

¢) more than 9 years

Vot £ (4 (00 5.3,3) = Lo0 [oR

d) The length of time John keeps his car is in the 90" percentile. Determine how long John keeps his
car. | J ) - )‘F T ——
A= awnorm(.4,5.3,13) = 03 iS )

9. The scores on an Algebra II test have a mean of 76.4 and a standard deviation of 11.4.
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cted and tested, find the probability that it will have a lifetime:
e 25 00 and 28,000 miles b) between 27,000 and 32,000 miles
_ (45,00 9000, 3000 3000) normed F(:z7ooo/39;000 ’“’

\O»\ffow | [.7745 |
- ¢) over 35 miles d) The tire company will replace tires whose tread life fa ﬂl

YMC‘A: ( 35,000 3900,000 30000, 9 00 i1 the lowest 15% of all tires of this model. What is the
| _:_ e = M tire that qualifies for replacement?
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4. The mean height of an American man is 69” with a standard deviation of 2.4”.

’8” and 71 tall b) ShOI'tCI' than 67” C) taller than o
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